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[2017 FE EF RS H R

A 5] Kt Uil
1 14 % 14 [A] [EAST 26 KFGREERS BE - R
5 | 25-28 o596 [0 BARSRA e EB I RORTHERS Z=)I - BE
6 | 911 2017 HAS2AERE FFiii(E ST M) - R
10-11 %5101 [B] HARRE FFifiR RS (R R - BHHE
10-11 %5 33 [0 U20 A ARRE -t T KRB B - BB HE
17 95 65 [B] HURUH X E A SRR Rk BHE - iR
23-25 #5101 5] A ARE REFHERS Kk« BJ&
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9 | 810 9586 [0 A ASEAERE LB RGR T HERS @ - fmH
15-17 95 32 [0 [E/ANL 26 KEEIele s ke RS - IEHEETh
24 %5 23 [ PAHROK P20 BB RI R R F A T - FIvH
10 | 6-10 2 FEREERS [EHEOR S ZODEER] TR - AL
14 %5 94 [0] FURF R KR EBRBHE 78S B - 3
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[57] 100m

B L 28 AAEYE 10.75 BIEUE 10.85 4 L A FE#E 10.45 B FE%E 10.56

K4 AR RS JEOE | RNZH %
1 T FERAIS VS 4 10.43 | -0.5 8/19 PB - X 2 fif
2 1NN 3 10.58 | +1.5 5/6 JEAR 5 i
3 BRI 4 10.69 | +0.4 5/6 JEA 9 i
4 SR HEEZ M1 10.74 | +0.4 7122 PB
5 B HHk 2 10.76 | +2.0 8/26
6 I E N 4 10.77 | +0.7 7/1 PB
7 Y e 2 10.79 | -0.1 8/27
8 VrisEke 1 10.92 -1.4 71
9 oA B 4 11.04 | -0.4 9/2 PB
10 ) IE 2 11.05 -0.1 9/2 PB
BER
T FERAIS VS 4 10.27 | +4.7 9/9
[5+] 200m
Bh L 288 AFEYE 21.80 BAEYE 22.00 47 L AFEYE 21.00 BFEH#E 21.35
K4 AR iR JEGE | RISz H iz
1 T FERAIS Vs 4 20.77 | +2.0 7/2 PB - FE{X 2 fiL
2 BRI 4 21.36 | -0.8 5/27 PB - &R 4 {if
3 IIEEN-N 3 21.65 | +1.5 7/1
4 Y H e 2 22.05 -0.2 9/16
5 HH BT 52 AR 2 22.14 | +1.1 5/7
6 Ko B 8RR 1 22.27 | +0.5 | 10/21
7 R 4 22.32 | +1.4 9/16 PB
8 Eplln= 2 22.59 | B 6/17
BE
R 2 21.84 | ~H 6/17




[557] 400m

B L 28 AAEYE 4870 BIEUE 49.40 4 L AFEUE 47.00 B AEYE 47.20

K4 AR RLk I RYALE| fii#
1 #HH R 2 48.36 9/15 PB
2 EN T YN 2 48.45 7122 PB
3 N3 gl 4 48.49 8/5
4 T FRAIS S 4 48.72 6/17
5 (AN Ay 1 48.89 6/3 PB
6 A EEZ M1 48.91 7122 PB
7 SRR 3 49.00 5/6 PB
8 Ao B 5 RN 2 49.31 6/17
9 oA R 4 49.77 9/2 PB
10 UNEZ PN 1 49.82 10/22
[% 7] 800m
B L 2% AFEUE 1.54.50 BAE%E1.56.00 24 L AEHE 1.50.5 BIEYE 1.52.0
K4 AR Rok I RVARE! fifi =
1 Iifmfica=] 3 1.57.26 9/16 PB
2 JERE 5N 3 1.57.27 9/23 PB
3 H S5 4 1 2 1.59.17 9/16 PB
4 & H AT 4 1.59.28 5/5
5 RN 3 1.59.49 6/17 BC
6 SRR 3 1.59.58 5/7
7 JLEA A 3 2.04.05 11/19
8 FIHE A 2 2.05.40 6/17
9 FHAK 3 2.19.74 11/19




[5F] 1500m

Bh L 28 AfEHE 35150 BAEYE3.57.00 &h L AFE#E349.0 BAEYE 3.52.0

K4 AR iR 7 H =
1 RN 3 3.59.12 4/22 PB
2 I =EGa=c] 3 4.01.14 4/30 PB
3 S 2 4.02.41 6/17 PB
4 NSE2IN 2 4.04.08 7/16 PB
5 NN 3 4.11.29 8/5 PB
6 KN 2 4.14.38 4/22 BC
7 BB 4 4.14.73 8/5
8 JI A ST 3 4.16.27 7/1
9 EN 55 YN 2 4.22.70 5/26
10 SRR PN 3 4.29.43 8/5

[55%] 3000m

K4 AR | RLER IRvAE| k]

1 RGYN RN i 3 8.58.33 12/17 PB

[55%] 5000m

B L 230 ARENE 14.12.00 BFEYE 14.30.00 4% L A FE#4E 13.55.0 B HEHAE 14.05.0

K4 AR Rik I RVARE! fifi =
1 NSEZIPN 2 | 14.56.74 12/3 PB
2 oA 3 | 15.16.16 12/3 PB
3 RN 3 | 15.32.95 12/3 PB
4 S ) 2 | 15.33.77 12/3 PB
5 JIE S 3 | 15.46.33 718
6 EB R 2 | 15.52.76 9/17 PB
7 Ji K 3 | 16.01.05 4/23
8 A K 1 16.11.20 9/17 BC
9 i ES7eES 3 | 16.21.58 7/1 PB
10 BRI 4 | 16.28.78 4/23




[5+] 10000m

B L 2 8 AFEYE 29.30.00 B #E#E 30.00.00 4 L AfE#E 28 55.0 B IEHE 29.25.0

K4 AR iR IRVAE! =
1 NSEZIPN 2 | 31.36.38 9/15 PB
2 JIE S 3 | 31.59.87 9/23
3 SN/ ] 3 | 32.33.98 9/23 1)
4 I =EGa=c] 2 | 32.40.95 9/23 PB
5 H S A 1 3 | 32.46.80 9/23 )
6 Je HR K 2 | 33.16.87 9/23
7 KN 3 | 33.55.47 9/15 PB
8 iRES7eES 1 | 34.36.88 12/2 PB
9 BEEZ 3 | 34.43.16 9/23 PB
10 2 H K 4 | 35.20.81 9/23

[55%] 110mH

Bh L 28 AEHE 15.20 BAEUE 15,50 &0 L AFEUE 14.05 BAEY%E 14.35

K4 AR Rik JEGE | RSz A =
1 A= B& 2 14.58 | +1.7 5/3 PB - X 8 {iL
2 (R NI 1 14.63 | ~H 9/16 JE4R 10 A7
3 WH &K 4 14.94 | +1.7 5/6
4 ENG VN 2 15.18 | +0.6 9/9
5 A HE 4 15.59 | +0.3 7/23
6 EH THEk 4 15.63 | +0.8 5/7
7 AN 35 1 15.83 -0.5 6/3
8 /NEE BEN 1 16.06 | +0.4 8/27
9 U6 4 16.23 | +0.3 517

[ +] 400mH

Bl L 238 AFEYE 53.90 BiREYE 55.50 &% L ATEYE 50.80 BAEHE 51.20

K4 AR Fosk i RVAE! fii#
1 BH O 2 50.86 7/23 PB - X 1L
2 er R & 1 53.29 8/5
3 JLEA A 3 55.55 71
4 it EX 3 57.24 6/17 PB




[55-%] 3000mSC

Bh L 28 AFEYE 9.15.00 BAE®E 9.25.00 &4 L AfE#E 855.0 BAE%E9.01.0

K4 AR iR IRVAE! =
1 NSEZIPN 2 9.27.36 9/16 PB
2 JIE S 3 9.28.56 9/16 PB
3 I =EGa=c] 3 9.39.65 4/22 PB
4 HF S A 1 2 9.41.93 10/28 PB
5 SRR/ i 3 9.57.31 10/28 )
6 KN 2 | 10.04.00 9/16 PB
[E+] 5000mW
K4 AR RoEk i RVARE! k=
1 LA R 3 | 20.47.95 6/17
2 EEE 4 | 21.02.96 6/17 PB - &K 6 {iL
3 A 1 | 21.15.40 6/17 JEMR T

[557] 10000mW

B L 2 #FEYE 48.00.00 4 L A FEYE 42.00.0

B £ #E 42.30.0

K4 AR Fok IRVALS| fifi =
1 A 1 | 42.25.34 | 12/16 PB - X 6 iz
2 EEE 4 | 42.27.95 9/16 PB - X 7L
3 Lt SR 3 | 42.55.51 5/27
4 BRI Ak 4 | 47.06.83 9/16

[5+] 400mR

BH L 2 EAEYE 42.50 24 LEEYE 40.55

K4 Fik EIRVALS] i
1 B~ 1L -7 - R 40.10 5/26 AR 4 fir
2 PN - L - R ) - R 40.70 7/23
3 V-3 H - TR 40.85 8/5
4 Vrisg- R ) - E - H 40.99 9/8
5 ) - - - R 41.08 7/1
6 (L1 -7 - - R ) | 41.13 10/27




[557] 1600mR

Bh L 2 BN 3.22.00 40 LIEUE 3.12.30

K4 RS EIRVALE! %5
1 NG -7 - 3.10.90 8/05 LR 3 1L
2 A2/ NG - A A - 5 3.14.38 7/1
3 /NI -5 FH - A 3.15.68 9/10
4 AZ-E -GS 3.15.80 9/17
5 7INWES - 5 P - - 3.15.68 9/9
6 AR PSS e 3.18.37 6/17

[5F] 20km
B L 2 #(10000m)FE #E 1.03.00

K4 AR Rok i RVARE! =
1 JI B SCH 3 1.05.33 10/14
2 NSEZIPN 2 1.06.12 10/14 PB
3 SR/ ] 3 1.07.37 10/14 PB
4 H S5 4 1 2 1.08.22 10/14 PB
5 Iifmfica=] 3 1.08.34 10/14 PB
6 Ji K 3 1.08.54 10/14
7 2 H K 1 1.10.11 10/14 ]
8 EB R 2 1.10.18 10/14
9 EREE7EES 3 1.10.30 10/14
10 BT 4 1.12.47 10/14

[Br] "—T~T VY

B L 2 #5(10000m)4E #E 1.06.00

K4 AR ik i IRVALE| i3
1 JI A S 3 1.09.00 3/5 PB
2 JiLH E A 3 1.16.06 3/5

[BT7] 7~TF

K4 TR | RO IRVAE {iks]

1 JI A S 3 3.12.59 2/5 ]




[557] 20kmW

BIH L 2 #(10000mW)EE#E 1.39.00 4 L (10000mW)B = %#£ 42.30.0

K4

A

i

EIRVAE!

(k)

EmAr

1

1.29.20

10/22

M1 - FEA 5 AL

[5-+] Embk

B L 28 AE#E 203 BEE#200 UL A% 216 BAEYE 2.13

K4 AR RS N2 H ik
1 G35 1 2.00 8/5 PB
2 A FH— 3 1.95 517 PB
3 EN YN 2 1.90 9/8
4 LA EE M1 1.85 7125
4 UNES 6 4 1.85 5/6
6 /INEFER N 1 1.75 8/26
6 B ik 4 1.75 5/6

[55+] #mpk

B L 280 ATEHE 460 BIE#E 430 &0 L AN 520 BAEEY%E5.10

K4 AR RoEk i RVARE! {4
1 T R, — 4 4.80 5/3 PB
2 TR EEZ M1 4.60 8/5 PB
3 AN 2 4.30 6/17 PB
4 BVRRE 3 4.00 4/23
5 /INERER N 1 3.90 8/27 PB
5 B HI 4 3.90 5/7
7T | =TTV | 1 3.00 5/3 PB




[ -+] EEpk

B L 280 AFEHE 715 BIE#E7.00 &0 L AfEHE 770 BEEYE 7.60

K4 AR RLAR JEUE | Bz H fii#
1 T FRAS Vs 4 7.60 +0.1 6/17 PB - X 1L
2 VINUEHEN 4 7.49 +0.5 5/26
3 WG 4 7.31 +1.8 9/9
4 ENT YN 2 7.09 +0.6 5/25 PB
5 TR EE M1 7.08 -2.3 6/17
6 /NEFEE N 1 6.90 +1.1 8/26 PB
7 e i e 2 6.81 +1.7 6/17
8 IEEERDN 1 6.73 A~H 8/5 PB
9 | A=TT VLIV E—E | 1 6.70 +1.1 8/5
10 H LR 2 6.56 +1.9 8/5 PB

[+] =Bk

Bh L 28 AEHE 1440 BFEUE 14.20 & L AFEUE 15.70 B Y% 15.60

K4 AR | FoER JEGE | RSz A =
1 EHE L 3 15.18 | +0.1 8/5 PB
2 & H [ELASf 3 14.20 | +1.0 7/22 PB
3 &3 M1 13.85 | -0.2 5/26
4 | b=TTVLIY = | 1 13.62 | -0.8- 8/5
5 B L7 D3 13.51 | +0.1 9/16

[5+] matLx

Bh L 28 AFEYE 12.00 BHE#E 10.70 40 L AE%E 15.70 B FEY%E 15.00

K4 AR RidR I RVALE| fii#
1 BEARISE 2 14.40 9/24 PB - & 107
2 EPN 4 12.42 6/17 PB
3 TR 1 12.42 8/5 PB
4 EN YN 2 10.74 5/25 PB
5 LA EE M1 10.68 5/25 PB
6 NS YN 1 10.13 10/28 PB
7 U 4 10.12 71 PB
8 B ik 4 9.85 4/29
9 AL AR 2 9.12 9/17

10




[5+] P

BA L 2 8 AFEYE 36.00 BAEHE 33.50 U L AFEHE 48.00 BAEYE 47.00

K4 AR iR IRVAE! =
1 [EON 4 46.26 7/2 PB
2 WA — 4 41.00 517 PB
3 AL AR 2 33.59 6/17 PB
4 IR 4 32.46 5/7
5 EN YN 2 31.61 6/17 PB
6 A EE M1 31.44 9/9 PB
7 Bk 4 30.23 517
8 0 R 2 28.97 6/17 PB
9 N2 PN 1 28.91 8/27 PB

[B+] ~o~e—P
Bh L 28 AEHE 40.00 BHFE%E 35.00 & L AFE%E61.00 BAEY%E 59.00

K4 AR | FoER I RVARE! {4
1 Tl HER 2 35.37 8/5 PB
2 EPN P 4 31.68 9/15 PB
3 B L1375 6% D3 24.37 8/5 PB
4 N K 4 15.51 9/15 PB

[B1] <&
B L 28 AFEYE 58.00 BAEUE 5550 44 L AFEUE71.50 BEY%E 70.00

K4 AR iR IRVAE! i
1 Tl HER 2 53.96 9/15 PB
2 AN 2 53.15 4/30 PB
3 LA B EZ M1 52.71 7.23 PB
4 GOPAED/R LS 2 50.68 9/15
5 B 4 49.86 4/30 PB
6 INELE S M2 47.88 8/5
7 /NEREE N 1 45.81 8/217
8 Nl 4 39.95 8/5
9 EnEapilikin) 4 36.32 8/5

11




[ +] HHEist

B L 28 AFEHE 5800 BEUE 5500 40 L AFEHE 6950 B FEUE 6850

K4 AR iR 7 H =
1 LR B M1 7058 7/23 PB
2 EN YN 2 6943 5/26 PB
3 L% 3 6395 8/6 PB
4 Bk 4 6361 517 PB
5 UG 4 6320 5/7
6 /NEFER N 1 5993 7/23 PB
T | AT T VoYM 1 5852 7/23 PB

[Z+] 100m

BAh LAY 12.25 20 L AFEAE 11.93 B IEYE 12.10

K4 AR AR JEGE | RSz A k=
1 INETWD & 1 12.12 -0.2 8/19 JEAR 1AL
2 il Lria 4 12.27 | +0.4 6/17
3 S B M1 12.69 -1.6 6/4
4 s Z D 2 12.72 | 40.9 8/5
5 FEZ L 4 12.89 | -1.7 4/1
6 H R T 1 13.04 | +0.9 8/5
7 K 3 13.05 | +0.9 8/5
8 PEAT B 2 13.20 -1.5 8/5
9 KITIHR, M1 13.23 | K9] 9/3
10 SplE T 2 13.41 | +1.7 8/5

BZ
INETWND X 1 12.06 | +2.9 6/10
FE% i 4 12.61 | +2.4 6/17

12




[Z7] 200m

B LAEYE 25,20 24 L AFEYE 24 55 B FEYE 24.85

K4 AR iR JROE | Btz H iz
1 INEND X 1 24.52 | +1.6 6/17
2 KIS Jh 16 4 25.01 | +0.6 5/7
3 AT B 1 25.53 | ~H 5/27
4 FE% i 4 25.56 | +0.2 5/3
5 s Z DD 2 25.80 | +0.3 5/27 PB
6 HRT AV M1 26.33 | +1.4 6/17
7 iijpacs 4 26.43 -1.0 8/5
8 RYTtETY 4 26.48 | +0.3 5/27
9 H AT 1 26.48 | -1.2 4/29
10 WS R M1 26.54 | +1.6 6/17 PB
BER
FI s Th 1t 4 2490 | +4.4 4/30
[%7] 400m
B LEEHAE 57.50 2h L AfEHE 5530 BiE%E 56.10
K4 AR | FOER IRVAE! =
1 FEZ L 4 56.49 8/18 PB
2 A A 2 1 56.69 6/17
3 Pk 5 4 57.50 7/1
4 JTREEAL 4 59.16 5/3
[%Zz7] 800m
BH LIEYE 2.16.50 2F L AE%HE 2.11.0 BIE%E 2.13.0
K4 AR RS EIRVAE! k=
1 b BB 4 2.06.47 6/24
2 WL R 52 4 2.10.78 6/24
3 BATR 1 2.20.37 9/10
4 T &7 2> 1 2.20.98 6/17
5 AEEF 1 2.21.03 5/7
6 G Z D 2 2.21.96 9/10
7 ) 1B 3 2.23.46 8/20
8 IR T AV M1 | 2.31.52 9/10

13




[Z:+] 1500m

B LAEYE 4.38.00 &0 L AFEYE 4.26.0 BIE%E 4.31.0

K4 AR ik ERAE i3
1 P 5 4 4.19.35 7/13 BC - (X 1 4L
2 75 ) 1A 1 4.52.51 5/25
3 TR B g 3 4.57.82 3/27
4 FoH &7 0> 1 5.11.59 71
[Z+] 3000m
B9 L (5000m) 1 % 9.40.00
K4 AR 0ok IRV S
1 Wi B 3 10.44.31 7/1 BC
2 HE OER 3 10.49.19 6/17
3 JIIRE s s 1 11.54.43 6/17
[Z:+] 5000m
B VEEYE 16.55.00 £ L ATE%E 16.05.0 B #EYE 16.20.0
K4 AR 0o IRV S
1 I A 1 19.49.69 8/5
2 JIIRE s s 1 | 20.25.61 9/17 PB

14




[Z+] 100mH

B LAEYE 14.60 &4 L AFEYE 13.90 B FE%E 14.25

K4 AR iR JROE | Btz H iz
1 RN 2 13.96 | +1.0 6/17 PB - &R 5L
2 EHA L—x 2 14.04 | -0.8 8/5 JEAX 6 i
3 INEND & 1 14.26 | -0.2 6/9
4 P Sk 4 14.75 | +1.2 5/6
5 BATR 1 14.82 | +1.0 9/9
6 RS HE R M1 14.83 | +0.4 4/29
7 =B AEML 3 14.92 | +1.9 5/6 BC
8 G Z D 2 14.95 | +0.9 9/9 PB
9 o EE Ik 2 15.01 | -0.3 7115
10 il % A 4 15.30 -0.9 4/29
BER
INEWDE 1 14.06 | +3.3 6/9
S B3 M1 14.59 | +3.2 5/6
KITHETy 4 14.97 | +2.5 4/8
[ % 7] 400mH
B LAEHE 1.03.00 24 L AfE%E 1.00.00 BFE%E 1.00.80
K4 AR | FOER IRVAE! =
i A 2 1 59.86 5/27 JELR 9 AL
PN L e 4 60.81 5/28
= 3 63.86 4/15
[%+] 3000mSC
B LAEHE 11.45.0 2 L AFE%E 10.30.0 B 11.00.0
K4 AR | FLER i RVARE! fifi#
1 HEER 3 | 11.12.36 5/26 PB. X 5L
2 RIS FL 3 | 11.42.49 5/6 PB. X 8L
[%+] 5000mW
K4 AR Rok i RVARE! =
RIIA S % 1 1 | 23.02.87 6/3 JEAR 3 AL
TR LA 2 | 23.41.30 6/17 PB

15




[Z:+] 10000mW

B LR 55.00.00 &4 L AEYE 49.30.0 B FEYE 50.00.0

K4 AR ik ERAE i3
AIASE %+ 1 | 48.48.10 9/10 PB
IR R LLT 2 | 49.25.85 5/26
BEREAE 3 | 53.07.03 6/3
[ %] 400mR
B LAEYE 50.20 24 LEEHE 47 50
K4 0ok RVAE! S
1 R A /N - Rk 46.88 8/5 FEA 1AL
2 | EHEA-FIEE-EETES | 47.68 7/1
3 P A /e - PE AT - AR 48.07 5/25
4 INE SRR A RS 48.09 6/17
5 G- SR TR 2e 48.84 9/15
[Zc 7] 1600mR
BEH LEEYE 4.20.00 40 LAEYE 3.52.00
K4 ks L IRVALE! e
1 INE-HREE N LR 3.44.58 9/9
2 - F 28 - PN L - Y 5 3.46.77 9/10
3 B -SE R AR R- L 3.49.28 9/17
4 FEL-FEER-N L 3.49.38 5127
5 15 FH -2 R - R IR - 3.55.29 9/16
[ZF] 20kmW
BE 7 L (10000mW)EE#E 1.53.00 45 L B =% 1.43.00
K4 AR S0P i IRVALE| i3
1 HIASE -+ 1 1.42.00 10/23 JEAR B AL
2 IR LLT 2 1.46.15 10/23 JEEAR 6 i

16




[Zc+]1 &mBk

B LI 1.65 &h L AFEYRE 1,75 BIEYE 1.72

K4 AR FoEk 7 H =
1 HIRT A Y M2 1.69 8/5
1 EE Z DM 2 1.69 | 4/29-9/9
3 FH A LR 4 1.65 8/5
4 HHR Ty 1 1.55 9/16
5 LA 1 1.55 9/9
6 A1) 1 B 3 1.45 8/19 PB
7 EEERT 3 1.45 8/5
8 AT 1 1.45 8/5
9 P R 3 1.40 10/21

[Zc+] ik

B LEE%E 3.20 40 L AfEYE 3.70 B A% 3.60

K4 FAR RoEk I RVARE! {4
1 K 3 3.60 9/10 PB
1 HOEE 1 3.60 8/5
1 KA 3 3.60 6/11

17




[Zc+] ElEBk

B LEEYE 5,70 &0 L AFEYH 6.00 BIE#E 595

K4 AR | FLER JROE | Btz H i
1 g Z DD 2 5.76 -1.3 4/15
2 KIS Jh 16 4 5.73 +1.8 5/25
3 PaAt B 2 5.69 ANHA 4/8
4 FEREF G 3 5.49 AH 4/16
5 I 3 M1 5.47 +0.4 5/3
6 FH A 2 1 5.46 H 9/16
7 7N 1 5 B 1 5.36 N 9/16
8 TR H 3Ty 2 5.30 NG 9/16
9 i Zs H 4 5.14 -1.5 8/5
10 HRT AV M2 4.98 +0.4 9/10

BER

FI s Th 1t 4 5.85 +2.3 4/29
R BT 3 5.55 +2.3 11/5
Pl M1 5.49 +2.3 5/7
) 118 3 5.07 +2.3 4/30

[Zc+] =Bk

B9 LEE%E 11.80 &0 L A% 12.40 B FEYE 12.20

K4 AR | FOER JEGE | RISz H iz
1 B 1 12.56 | +1.0 8/19 PB - X 1L
2 £ FH o 1 11.89 | A~ 9/17
3 7N 1 5 B 1 11.78 | =~ 8/5
4 FRETE 2 11.72 | +1.6 4/8
5 ik Zs A 4 10.62 | -1.2 8/5
BE
ANNE 1 12.04 | +2.6 9/9

18




[Zc+] Atk

B LAEYE 12.00 &4 L AFEYE 13.90 B FE#E 13.30

K4 AR iR 7 H =
1 B 1 10.88 9/15
2 G = DD 2 10.77 9/9 PB
3 e JE AR 3 10.75 10/21
4 FHXA 1 10.21 9/15
5 HIRT AV M1 9.77 8/5
6 )1 BE1- 3 9.64 8/5
[Zc+] Mg
BAh LAEHE 40.00 25 L AFEXE 46.00 B EH%E 43.50
K4 AR Rok i RVARE! =
1 SFH3EH 1 36.31 9/17

[Z7] no~—i

B LEE%E 42.00 27 L A E%E 53.00 B =% 49.50

K4 AR | FOER i RVARE! {4
1 Bk MR 3 12.56 8/5
2 i HERT 3 12.54 8/5

[Zc7] o0 #

B LFEYE 43.00 40 L A FE%E 52.00 B =% 50.00

K4 FAR | g I RVARE! {4
1 S R 3 50.02 4/8 PB
2 s Z D 2 47.03 9/16 PB
3 )1 B 3 44.75 4/30 PB
4 AR VU HE 1 42.99 9/16
5 B H 1 35.94 8/5

19




[Zz+] AR

B LAEYE 4400 40 L A FE%E 5000 B FE%E 4800

K4 AR iR 7 H =
1 g Z DD 2 5378 5/28 PB - & 107
2 BATR 1 4917 5/28
3 KITHETS 4 4525 5/28
4 HIRT AV M1 4467 9/10
5 £ B 3 4448 4/30 PB
6 AT 1 4393 9/17
7 RS HE M1 4230 10/1 PB
8 AT 3 3628 9/17
9 PE 4 3442 9/17

20




